VOSCOPE SOY NERO

1. Seymour, the older man, says
that Nero ... wind turbines.
a) needs to understand
b) has never seen
c) knows nothing about

2. What does he says about
the turbines?
a) They should not be placed
where they are.
b) People don’t understand
their inefficiency.
c) They are perfectly positioned.

3. What impression of him do we get from the video clip?
a) He is a failed scientist.
b) He may believe in conspiracy theories.
c) Hisaimin life is to educate young people.

4. What is ‘the corrective zone’?

a) a part of the globe that maintains some equilibrium 1.

b) an area where rich corporations can do what they want

c) the place where most wind turbines will be 2.
5. Seymour says the wind turbines are ... by gas. 3

a) filled .

b) fuelled

c) fed 4.
6. What does he mean by being ‘set up’? 5.

a) succeeding
b) being duped
c) not realising your potential
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